Lens Ray Diagram #1

( = 16 cm
h( = ____________ [          ]

f = 11 cm

	From Ray Diagram:


	i = ____________[          ]
	hi = ____________[          ]
	% difference in i = ___________
	% difference in hi = __________

	From Experiment:


	i = ____________[          ]
	hi = ____________[          ]
	
	

	From Theory:


	i = ____________[          ]
	hi = ____________[          ]
	% difference in i = ___________
	% difference in hi = __________
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Lens Ray Diagram #2

( = _______________ cm
h( = ____________ [          ]

f = 11 cm

	From Ray Diagram:


	i = ____________[          ]
	hi = ____________[          ]
	% difference in i = ___________
	% difference in hi = __________

	From Experiment:


	i = ____________[          ]
	hi = ____________[          ]
	
	

	From Theory:


	i = ____________[          ]
	hi = ____________[          ]
	% difference in i = ___________
	% difference in hi = __________
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Uncertainty in Optics Measurements

	Experimental Quantity
	Uncertainty
	Smallest Measured Value
	Percent Uncertainty

	( [        ]
	
	
	

	i [        ]
	
	
	

	h( [        ]
	
	
	

	hi [       ]
	
	
	


Largest percent uncertainty in experiment = _______________
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